BEIDEAWD A

B ECEIIREIIIEFEANEILL),

D 50000g = kg

@ 7006kg = t kg
@ 1330kg = t kg
@ | 10kg = g

® 9t960kg = kg
® 7kg g = g

@ 600kg = g
50t400kg = kg
@ 3tlkg = kg
8kg =

@ 1t420kg = kg
@ 8006 g = kg g

/24

® 10t500kg = kg
@ 12t800kg = kg
® 97100 g = kg g
kg 400g = g
@ 104t = kg
72kg 700g = g
15t = kg

@ 70kg = g

@) 19000g = kg

@ 34t = kg

@ 54kg = g

@ 770t = kg




BEIDEAWD A

B ECEIIREIIIEFEANEILL),

(D 500009 = 50 kg

@ 7006kg =| 7 t 6 kg
@ 1330kg =| | t 330 kg
@ 110kg = 110000 g

® 9t960kg =| 9960 kg
® Tkg lg = 7001 g

@ 600kg = | 600000 g
50t400kg = | 50400 kg
@ 3tlkg = 3001 kg
8kg = 8000 g

@ 1t420kg = 1420 kg
@ 8006g =| 8 kg 6 g

/24

® 10t500kg =| 10500 kg
@ 12t800kg = 12800 kg
® 97100g = 97 kg 100 g
kg 400g = 1400 g

@ 104t = 104000 kg

® 72kg 700g = | 72700 g
15t =| 15000 kg

@ 70kg =| 70000 g

@) 19000g = 19 kg

@ 34t =| 34000 kg

@ 54kg = | 54000 g

@ 770t =| 770000 kg




